Table 1: Wage Distribution and Wage Cards

Experiment Round
1 2
($0 search cost) ($100 per period search
cost)

Wage Frequency Wage Frequency
0 10 0 10
100 1 100 1
200 2 200 2
300 3 300 3
400 2 400 2
600 1 600 1
1000 1 1000 1

It is recommended that the Wage Cards below should be printed on 2 different color

papers for 2 different rounds:

For Round 1:

Wage: $0 Wage: $0 Wage: $0 Wage: $0 Wage: $0
Wage: $0 Wage: $0 Wage: $0 Wage: $0 Wage: $0
Wage: $100 Wage: $200 Wage: $200 Wage: $300 Wage: $300

Wage: $300 Wage: $400 Wage: $400 Wage: $600 | Wage: $1,000




For Round 2:

Wage: $0 Wage: $0 Wage: $0 Wage: $0 Wage: $0
Wage: $0 Wage: $0 Wage: $0 Wage: $0 Wage: $0
Wage: $100 Wage: $200 Wage: $200 Wage: $300 Wage: $300
Wage: $300 Wage: $400 Wage: $400 Wage: $600 | Wage: $1,000




Total no. of student participations in this experiment:

Table 2: Student Record Sheet — Round 1

Period | Do you Total no. Wage Do you Total no. Your earnings: Your Your total
want to | searching offer accept employed A) = current search earnings this
actively in the this this in the period’s offer if cost: period
search? labor period offer? labor accepted, fixed

market market for the rest of
(Yes / these 10 periods. | ($0 search (Earning —
No) (Yes / No) B) = %0 if offer is cost for search cost)
not accepted, go this
to next period round)
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Total no. of student participations in this experiment:

Table 2: Student Record Sheet — Round 2

Period | Do you | Total no. Wage Do you Total no. Your earnings: Your Your total
want to | searching offer accept employed C) = current search earnings this
actively in the this this in the period’s offer if cost: period
search? labor period offer? labor accepted, fixed

market market for the rest of
these 10 periods. ($100/ (Earning —
(Yes / (Yes / No) D) = $0 if offer is $0) search cost)
No) not accepted, go
to next period
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